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SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
SHE X AE A 3,670,753 2,990,523 680,230
HAS 0HUXSE S8 sSMHLE(SH/HIIS) 3,059,694 2,419,130 640,564
SANNRAIE A X4 L 2 3,058,294 2,417,730 640,564
OHE & Al 22| 336,660 412,400 ANT5,740
201 2Et2Hy| 165,060 182,000 A 16,940
01 AP 2t 2] H| 16,960 20,800 A 3,840
OHE HIZEAH =8 2,000,000& = 2CH 4,000
Olgsd e s 237 3,000,000 3,000
OMYH HIIHE 442
230,000 ~ 12€ 2,760
O/E4 L Kot +BAMN +48
600,000 ~ 12& 7,200
02 Z2=2=24%4| 148,100 161,200 A 13,100
OHE & AGtE=ER23 350,000&  12& 4,200
Ogad dII=2 3,800,000& ~ 12€ 45,600
O£l 0lsHE 2 108 24
2,000,000& ~ 10= 20,000
OKS0IM2(EM) HIZAIE SX 22|
3,000,000& 3,000
OXUI (X2, AAD|H) E8€2 L 2HAH|
1,500,000 1,500
OZ&H| (X, ALD|H) SFHI
1,300,000 * 12& 15,600
OZH| (X, HAEIIH) SXE2H|
10,000,000 10,000
OSLMAHE RAEH| 3,000,000& 3,000
OQAELHel(JIH, HI)&Hl |XE4H|
1,000,000& = 10= 10,000
Og2D =4 A 7,000,000& 7,000
OE=£2J] (d=Z DA 1,500,000 * 23| 3,000
Qotx=E(2E4) 22 2,100,000& = 12&€ 25,200
202 o4 | 1,500 2,000 A 500
01 2Ll 1,500 2,000 A 500
O=2UW 0 H| 1,500,000 1,500
206 M = dl 40,100 43,400 A 3,300
01 X2 Hl 40,100 43,400 A 3,300
OE A gtgetE 22|
15,000 = 203 * 104 3,000
OBXJI=HM (45mm Olat) & HI 5,000,000& 5,000
ORSOIME2(EM) HH¥E U eyl
5,000& * 1,000kg 5,000
OSSO0 MS(EM) it oy
10,0002 * 5004 5,000
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OFE=+XclE PHUIM & HI
700,000& = 30K 2,100
OFE+Hel8 25 #LH|
20,0003 * 48 = 250 20,000
401 Al HI R 201 I 130,000 130,000 0
01 A& HI 130,000 130,000 0
ONAZHE EXISAM 20,000,000& 20,000
OMYE HELIES HHL Z|
90,000, 000& 90,000
OFE+RY REXIFX IAMN=S &4
20,000,000& 20,000
L2ZAE 22 1,879,449 1,158,700 720,749
201 Let24E] 1,117,400 1,117,400 0
01 At 2t 2l 485,000 435,400 49,600
OH=M |EHel === 70,000& » 3,500 245,000
OHss4X SIsHal 242
200,000& * 1,200& 240,000
02 =24l 632,400 682,000 A 49,600
OAZ2AIE BRoI2Y
1,500& = 7,000L * 128 126,000
OXZAE dot=Els=
1,600& = 4,500kg * 128 86,400
OX2ANE HIR=S 35,000,000 * 12& 420,000
202 O4dl 1,500 1,500 0
01 = LH 4 1 1,500 1,500 0
O =L Hi 1,500, 000& 1,500
401 AIEHI L 20 705,199 20,000 685, 199
01 A& HI 705,199 20,000 685, 199
OZLTAE 2HLH RE2uA 56,000,000& 56,000
O22=2 WatE B2 3 A 90,000, 000& 90,000
O222 stAX WAl 80,000,000& 80,000
O22AE SEE3 WX 22,000,000& 22,000
O22ANE 27 B2 30,000,000& 30,000
OX2AE ANEESRE2 LM AdAEHES
1,056,000,000& * 5.89% 62,199
OX2AE 28 2= 30,000, 000& 30,000
OLZAE SAEX WA 25,000,000& 25,000
OA2AlIE A 3de 2= 50,000,000& 50,000
OL2ZAE Yo Uil SEF 44X
30,000,000& 30,000
OA2AE S 2 WA LHI(PLC) 22 wAH
80,000,000& 80,000
OFQUEAAL A8 S22 F20H
150,000, 000& 150,000
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405 XHoHF S HI 55,350 19,800 35,550
01 AL ESFH S 55,350 19,800 35,550
OLA(H8)AE UE 420 2¢
250,000& =« 6CH 1,500
O22ANE AxD 72¢ 1,200,000 * 3CH 3,600
OL2ZAlE HiteD 22 5,700,000& 304 17,100
OX2AIE MED ¢ 1,050,000 * 3CH 3,150
OA2tAIE HOI=S Ade H3 2
30,000, 000& 30,000
22 HdEAE 2g 22 104,500 0 104,500
401 A& HIZ 201 I 95,000 0 95,000
01 A& HI 95,000 0 95,000
ONEE dEAE A 0IS2HO0NH F2uA
55,000,000& 55,000
ONEs8 dEAE 22 A &3
40,000,000& 40,000
405 TtobH S| 9,500 0 9,500
01 AL ESFH S 9,500 0 9,500
OMES dEAE ol 7
4,750,000& = 20H 9,500
dEHelAE 29 37,863 0 37,863
101 14 Hl 37,863 0 37,863
04 JIZHHZ2XNHEE S 37,863 0 37,863
OJIZHZ=2XRHsEs 37,863
o=N 82,3503 247« 20,341
oRESRdsg 82,3503 * 64 5,271
0ANRTHLLY 82,3502 * 52 412
oEYIRAY
82,350 * 150% * 3 * 12& 4,447
o=2altl 60,000& = 12& 720
o wSHl 30,000& * 123 360
o4l EEZ 31,137,750& = 10.645% 3,315
oI RLEE
31,137,750& * 3.495% * 11.52% 126
0EHSH 82,350 * 30 2,471
o Il =Hl 200,000& = 23l 400
HOISZSAG (FUZARH) 75,722 79,080 A 3,358
101 @124l 75,722 79,080 A 3,358
04 JIZHHZ2Z2XNSE = 75,722 79,080 A 3,358
OJIZtHZ22XRHsE+ 75,722
o0=0 82,350 * 2 * 247 40,681
oRERgE 82,350 * 2% » 64 10,541
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oAHXRESF I+ 82,3503 » 2% = 5 824
052 RE
82,3503 » 150% » 2% * 3 * 123 8,894
o =24l 60,0003 = 28 » 123 1,440
ousHl 30,000 = 2% = 12& 720
odHEE = 31,137,750& = 10.645% * 2Y 6,630
oAl AZE
31,137,750& * 3.495% * 11.52% » 2H 251
o0&E&ZN 82,3503 * 2% = 30¢ 4,941
o Il =Hl 200,000& = 2H =« 23| 800
SIANE 29 624,100 745,550 A 121,450
201 YEt 2yl 30,100 37,550 AT,450
01 AL 22l H| 6,750 9,200 £2,450
OZLHIZR ¥ A0S T=|
250,000 » 4Y « 23] 2,000
OMAY, A 5 225 7Y 500,000& 500
OxgE ISH(&3, Hx, AYgsE )
150,000& * 9% 1,350
OZXAANY 5 FHESF WA 500,000& 500
OHIIZE JI=2ERds &84 =&
70,000& = 10Y « 23] 1,400
OSZTAY HNAE T2 ¢
250,000& * 44 1,000
02 2324l 23,350 28,350 A5,000
Ozels & FHAEE SANESH]
18,000, 000& 18,000
O&stx & 350,000& 350
OFoHEAANL A= AN E=H 5,000,000 5,000
202 odl 1,000 1,000 0
01 = LH o4 1l 1,000 1,000 0
O=UW0 bl 1,000,000 1,000
207 A RO 28,000 126,000 298,000
01 A3l 28,000 126,000 98,000
OHIIERE 24IAUUXN S HE2CHM WS
g BNAN BESEY 7,000,000& 7,000
OHIIERE 24 IAHURXN SHE2CM s
g AN HEEH 7,000,000& 7,000
OHIIERE 24 AU Ol8HE Hd=2
2 7,000,000& 7,000
OHIIERE 24 AWK O™ ED A
== 7,000,000& 7,000
308 XtXIEHHSOIA 510,000 510,000 0
R2IIEIRE= 510,000 510,000 0
Og HIISXM=RE=S 233,000, 000& 233,000
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Oax2 HIISH==RES3 277,000, 000& 277,000
401 Al HIZ 201 8] 55,000 70,000 A 15,000
01 A& HI 55,000 70,000 A 15,000
OAM A =8 3 FH 55,000
oZAHAA W HE s HHl & ==Y
35,000,000& 35,000
ozdls sS4 &= 20,000,000& 20,000
Y FQANM dRFX(SZ N AE L) 1,400 1,400 0
ANHBAIY HRFL(2AM)(BZTHIAAL L) 1,400 1,400 0
203 YR =&l 1,400 1,400 0
03 AIMZ=XH R =AY 1,400 1,400 0
OANMFA FRFAH 1,400,000& 1,400
HHE2AZH (BZ X3 AIE L) (JIEH/DIE) 207,445 201,393 6,052
A2l 173,772 166,086 7,686
e30lstd g2 173,772 165,586 8,186
101 @124 dl 173,772 165,586 8,186
03 B2 (RIHY)22NHE S 173,772 165,586 8,186
oJles 2,339,440 * 3¥ * 123 84,220
O=cl =4 25,774
o ZAUZAH| 160,000& » 3Y¥ = 12& 5,760
o JHAIE & HI 110,000& = 3¥ = 128 3,960
ouwsSEXH| 140,000& » 3Y¥ 128 5,040
o EE St
3,059,440& = 60% » 3H * 23| 11,014
OF=q0:F= 32,125
od2=g  3,059,440& » 3F = 50% * 23] 9,179
o M= et
3,059,440& = 3¥ x 50% * 53| 22,946
OdXtmsSF/IH=E 163,000& » 3Y¥ 152 7,335
OF=RLE = 13,320
oNESE 2,160
bH < Xt 40,0003 * 3H * 123 1,440
JIEHILE 60,0008 * 123 720
oMY 70,0008 = 3% = 128 2,520
oS+gRLY(BR4Y)
240,000& = 3H » 123 8,640
OxV2RLY
30,5503 * 3H * 10Al2t = 128 10,998
=& Hl 33,673 35,307 A 1,634
Jl2ztl 33,673 35,307 A1,634
201 et 25,353 26,487 A1,134
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M HE2ALH (BZ X2 AE ) (IIEH/IIE)
¢l =gl CEE-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 At 22l 23,353 24,487 N1,134
O=gtl 500,000& * 123 6,000
OLXNEREEs =8NS 53,000& = 123 636
FOIBHANAE BAx2E
320,000& = 123 3,840
O=AD gtz 159,500& = 204 = 12& 3,828
EA2E AMR2eldl 4,000,000& 4,000
odldl gxz 15,400& = 128 ~ 304 555
Otz =2 80,000& = 12& 960
O/ EIE &©ZI| LXz 11,0002 * 128 132
O&=D Xz 36,0003 = 304 » 123 1,296
OJNEZHEY SFHs2
140,400,000& = 1.5% 2,106
02 =24l 2,000 2,000 0
ORN2YE 23294l 2,000,000& 2,000
202 oddl 3,000 3,500 A 500
01 = LH 4 Hi 3,000 3,500 A 500
ORM2g =L 3,000,000& 3,000
203 AR Z= Y| 3,520 3,520 0
02 It = &H| 520 520 0
O&FA I HRF&H| 40,0003 = 13¥ 520
04 FN2ELRZ=TH| 3,000 3,000 0
ORNM2Y gRF2HI 250,000& = 12& 3,000
204 MR AH| 1,800 1,800 0
01 Mg 1,800 1,800 0
OXMg PR+ Al 150,000& » 12&8 1,800
WSS (BEXRALA)(BY/HIIE) 403,614 370,000 33,614
LHEAHH K= 403,614 370,000 33,614
HOISHM2AE =HAY =UXA 403,614 370,000 33,614
70201238E3 403,614 370,000 33.614
(EPIE=RSE—= 403,614 370,000 33,614
OHYIZXelAd FeX2Js 82 403,614
oHJIZ2 gt =+3F 4,036,134,000& * 10% 403,614




